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FHIE  <EH 1EUEHE>

I8 |[F7avy| K%24% | BES EFH F4 | B3| YDS| FH|LONG| TB | 20y
1] T fRK | 19 |[HHF EE 4 23| 967[42.0 | 91 1| 10
2| T HBK 6 |[EEE k¥ 4 18| 713]39.6 | 52 of 5
3 T BiAK | 12 |BR & 3 37| 1422|138.4 | 58] 1 8
3| T RiRH 3 |REB BT 4 17 652|38.4| 66 of 4
5| T PN WE B 4 36| 1370| 38. 1 65 1 5
6| T AKX | 89 |[#B® &KX 2 32| 1180/36.9 | 49| 1 6
A BAKX 2 | R 2 30| 1092/36.4 | 51 2l 4
8 T BEKX | 30 |FB =i 2 12 417|348 | 44/ of 0
9| T BREX | 77 |F#E R® 3 10] 327|327 | 54 of 3
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g6 |F7avy| K248 | BES EFE FE | @3 | YDS| F# |LONG| TB | 20y
1] T BEX | 82 |1hAE = 1 1| 48/48.0 o0 o o0
2| 1 IHK 9 |Mm AT 4 2| 80{40.0| 43 o 0
3| T RiRH - k¥ EX 1 3| 106/35.3| 44 0] 1
41 1 BBA | 12 |E+E R 1 2| 57(28.5| 29| 0 1




